Virginia High School League Regional Competition, 2000-01 season

Match #6


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the Region level by Shawn Pickrell. These questions are to be used by individual Regions to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition. 

a. Release of these questions to any entity not affiliated with the Region competition or the schools that are members of the given Region before all Region champions have been announced is prohibited. This is meant to keep question security. 
b. Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all Region champions have been determined. This is also meant to keep question security. 
c. After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged. 
d. These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means. 

First period: 15 toss-ups

1.
THIS IS A COMPUTATION QUESTION. Bob the builder makes $16.00 an hour. Over the course of three Monday-Friday workweeks, 8 hours per day, 3 days are rained out, he is sent home after a half-day twice and on one other day there is simply no work to be had. So how much money has Bob the builder made over the three weeks?

ANSWER: $1,280 (15 workdays. 3 are rained out, 1 with no work and 2 half-days make for 5 days of non-work. 10 workdays * 8 hours per day = 80 hours. 80 hours * $16 = $1,280)

2.
What name is given to the process of dipping a piece of metal into a substance to be used as a protective coating, and then applying electricity to allow a reaction to take place?

ANSWER: ELECTROPLATING
3.
Who is the former governor of Colorado that has been named as George Bush’s choice for Secretary of the Interior?

ANSWER: Gale NORTON
First period (continued)

4.
This 18th dynasty king, who was born Amenhotep IV, decided the only ‘real’ god was the sun god. He then built a new capital city in this god’s honor, but his religion was short-lived, as it died out after his death. Who is this pharaoh, who counted Nefertiti among his wives, that started the cult of Aton?

ANSWER: AKHENATON or IKH(E)NATON
5.
What seven-letter word taken from the French means the watch of a whole army by night, when in danger of being attacked, or an encampment for the night usually without tents or other shelter?

ANSWER: BIVOUAC
6.
A Southern planter is being hanged by Union soldiers. In between the tightening of the noose and the actual breaking of his neck, he plans his escape in what short story by Ambrose Bierce?

ANSWER: AN OCCURRENCE AT OWL CREEK BRIDGE
7.
A Maryland law stated that all banks not created by the state were to comply with state restrictions or pay an annual tax of $15,000. When the Baltimore branch of the Bank of the United States did not comply, the state sued. What was this case where the Supreme Court unanimously declared the Maryland law unconstitutional, saying that federal law and institutions were supreme to state laws?

ANSWER: McCULLOCH v MARYLAND
8.
Who was the ancient Greek philosopher that went through the streets of Athens at night, holding a lantern, looking for an honest man?

ANSWER: DIOGENES
9.
What is the name given to the substances released by infected and injured cells that causes the capillaries to expand, thus bringing more blood and white blood cells to the site of the infection, and is a frequent cause of swelling during colds, bee stings and other injuries?

ANSWER: HISTAMINES
First period (continued)

10.
THIS IS A COMPUTATION QUESTION. A square field with a perimeter of x will have what area, in terms of x?

ANSWER: ONE-HALF X SQUARED (each side of the field will have sides of ¼ X, so the area will be ½ x squared)

11.
Cassius Marcellus Coolidge is a painter best known for the painting, “A Friend in Need”, which shows seven poker players of a certain persuasion, one of which is slipping another an ace. What is unusual about Coolidge’s poker players, aside from the fact that they have four legs each?

ANSWER: The are DOGS (mention Dogs somewhere and give the player credit – of course one might question me including Dogs Playing Poker in the Fine Arts category)

12.
What effect only affects water moving over large distances, and is thus not really responsible for water in an Australian toilet to go down the drain in the opposite direction from water in an American toilet?

ANSWER: CORIOLIS effect

13.
Take the denominator and multiply it with the derivative of the numerator. Subtract the numerator and multiply it with the derivative of the denominator. Divide the result by the denominator squared. You have just expressed the formula for what derivation rule in calculus?

ANSWER: QUOTIENT rule

14.
This novel centers around Robert Jordan’s 72 hours in a Spanish Republican camp, where he falls in love with Maria. What is this novel by Ernest Hemmingway?

ANSWER: FOR WHOM THE BELL TOLLS
15.
What name is given to the act of falsely making, reproducing, altering or signing a document with the intention of defrauding others as to its authenticity?

ANSWER: FORGERY
Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
Which Senator of the Old Republic became Emperor after crushing all opposition and destroying the Jedi?

ANSWER: PALPATINE
1B.
Who was the German naval commander that was the second and last Fuhrer of the Third Reich?

ANSWER: Karl DONITZ
2A.
The Decembrist revolt occurred in what country in 1825 as an attempt to overthrow the autocratic government of Alexander I?

ANSWER: RUSSIA (don’t accept Soviet Union)

2B.
The Ambassadors Theatre in London ran this play for 21 years despite it being panned by the critics. What is this play by Agatha Christie?

ANSWER: THE MOUSETRAP
3A.
What poet wrote the eight-volume epic Tam o’ Shanter and is most famous for his collection Poems, Chiefly in the Scottish Dialect?

ANSWER: Robert BURNS
3B.
Express, in terms of the sine of an angle, the quantity sin x times cos y plus cos x times sin y. 

ANSWER: SINE OF X PLUS Y
4A.
THIS IS A COMPUTATION QUESTION. A line has a slope of 3 and a y-intercept of 2. What is the y co-ordinate when the x co-ordinate is 5?

ANSWER: 17 (Remember, y = 3x + 2, so plug 5 into the formula, yielding 17)

4B.
Hagar and Sarah were the two wives of what Biblical patriarch, the father of Isaac?

ANSWER: ABRAHAM or ABRAM
Second period (continued)

5A.
What is the name of the line around which most stars on a Hertzsprung-Russell diagram fall?

ANSWER: MAIN SEQUENCE
5B.
The ileum, jejunum and duodenum are there three parts of what organ?

ANSWER: SMALL INTESTINE
6A.
What Italian composer composed the opera The Barber of Seville?

ANSWER: Gioacchino ROSSINI
6B.
Which nine-member committee of the House can be considered the most powerful committee, as it determines the schedule that the House will follow?

ANSWER: RULES Committee

7A.
According to Article I, Section 9 of the Constitution, in what year did the slave trade become illegal in the United States?

ANSWER: 1808
7B.
The poetry collections Color and The Black Christ and Other Poems are his most famous. Who is this Black poet that wrote Yet Do I Marvel?

ANSWER: Countee CULLEN
8A.
Express the following sentence in the past continuous tense: I go to the store.

ANSWER: I WAS GOING TO THE STORE
8B.
THIS IS A COMPUTATION QUESTION. A cone has a radius of 4 and a height of 9. What is its volume?

ANSWER: 48PI (16 PI * 9 / 3 = 3 * 16 PI = 48 PI)

Second period (continued)

9A.
THIS IS A COMPUTATION QUESTION. What is the distance between the points (3,4) and (8,10)?

ANSWER: SQUARE ROOT OF 71 (Take the square root of 36 + 25. You get the square root of 71.)

9B.
What legendary Western has a Mexican town under constant attack from bandits hire seven gunslingers to protect the town?

ANSWER: THE MAGNIFICENT SEVEN
10A.
What name is given to the practice of mining by simply digging a large hole in the ground?

ANSWER: STRIP mining

10B.
What name is given to an electrical device in which charge can come back to its starting point and be recycled instead of getting stuck in a ‘dead-end?’

ANSWER: CIRCUIT
Third period: 15 toss-ups

1.
Howard’s End, A Room With a View and A Passage to India are novels written by what British author?

ANSWER: E.M. (Edward Morgan) FORSTER
2.
She was the queen consort of Louis VII of France, but he then annulled his marriage to her. She then married Henry II of England, an act which gave Henry more land in France than Louis. Who is this woman, mother to English Kings Richard the Lion-Hearted and John, the duchess of a huge region in southwest France, Aquitaine?

ANSWER: ELEANOR of Aquitaine

3.
To the left, three men stand, with arms outstretched, ready to receive their swords from the man in the middle. To the right, three women with one small child can be seen with their heads down, in apparent sorrow. What is this painting by Jacques-Louis David, named for an oath taken by three triplets representing Rome to fight the Curiatii, who represented Alba?

ANSWER: OATH OF THE HORATII
4.
While insulin lowers the blood sugar level, what hormone raises the blood sugar level?

ANSWER: GLUCAGON
5.
In MS-Word, under which menubar option can New, Open and Close be found?

ANSWER: FILE
6.
THIS IS A COMPUTATION QUESTION. A soccer club averages attendances of 8,000 per game over the span of 18 home games. Assuming TV rights are $1,500,000 over the course of the season, merchandising averages $10,000 per home game, how much money does the club rake in if it charges $10 per fan?

ANSWER: $3,120,000 (8000 * 18 = 144,000. $10 * 144,000 = $1,440,000. $1,500,000 in TV money and $180,000 in merchandising. Total of $3,120,000)

Third period (continued)

7.
‘If a change is imposed on a system at equilibrium, the position of the equilibrium will shift in the direction that tends to reduce the change.’ This is a statement of whose principle that describes how equilibrium will change to compensate for a change in the environment?

ANSWER: Le CHATELIER’s principle

8.
The Virtue Party is considered by the Army of this country to be a repeat of the banned Islamic Welfare Party in what country, where the army has ousted several leaders in the past to maintain a secular government?

ANSWER: TURKEY
9.
‘Share Our Wealth’ and ‘Every Man a King’ were the slogans used by this politician who wanted the federal government to guarantee a minimum income of $5,000 to every family. Who was this man who was assassinated in 1935, a Governor and Senator from Louisiana?

ANSWER: Huey P. LONG
10.
Anna Christie, Desire Under the Elms, Mourning Becomes Electra and The Iceman Cometh are all plays written by what American playwright?

ANSWER: Eugene O’NEILL
11.
Fought between June 28 and July 2, 1862, the battles of Mechanicsville, Gaines’ Mill, Savage’s Station, Frayser’s Farm and Malvern Hill were collectively known by what name, given due to their length?

ANSWER: SEVEN DAYS battles

12.
This ten-letter word comes from the name of an Anglican preacher who allegedly said among other things, ‘The Lord is a shoving leopard.’ What is this practice of transposing initial consonant sounds in a pair of words called?

ANSWER: SPOONERISM
Third period (continued)

13.
THIS IS A COMPUTATION QUESTION. Multiply the binomials 3x + 2 and x – 5.

ANSWER: 3X SQUARED MINUS 13X MINUS 10 (3x squared – 15x + 2x – 10 using the FOIL method)

14.
For gases, it is expressed with the equation PV = k, where P is pressure, V is volume and k is a constant that changes with temperature. This is an expression of what law named for the Irish chemist who determined it?

ANSWER: BOYLE’s law

15.
Actaeon dared to look at this goddess while bathing, for which he was turned into a stag, which his hounds then devoured. Who was this goddess, an eternal maiden of the hunt, the twin sister of Apollo?

ANSWER: ARTEMIS or DIANA
Spares

Among this German’s final shows was conducting a show which had East and West German musicians in the orchestra a year before his death. Who is this conductor known for his symphony No. 2, The Age of Anxiety, and for his musical work with West Side Story?

ANSWER: Leonard BERNSTEIN
What name is given to the clusters of nerve cells that occur outside of the brain and spinal cord?

ANSWER: GANGLIA
Who is the faithful daughter of King Lear that is disowned by Lear for refusing to make an insincere pronouncement of love for her father?

ANSWER: CORDELIA
THIS IS A COMPUTATION QUESTION. 65 is 80% of what number? 

ANSWER: 81.25
What river runs through Southeast Asia, emptying in a giant delta to the south of Ho Chi Minh City in Vietnam?

ANSWER: MEKONG
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